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Question Number : 1 Question Id : 824724925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A) : Children should be provided with love, care and lot of opportunities to develop and

learn in early childhood.
Reason(R) : Outcome of severely deprived childhood can be easily modified in later years.

Choose the correct option.

Options :

1. Both (A) and (R) are true and ( R) is the correct explanation of ( A)

2. Both (A) and (R) are true but (R) is not the correct explanation of ( A)
3.(A)is true but ( R) is false

4. Both (A) and ( R) are false

Question Number : 1 Question Id : 824724925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 824724926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jean Piaget's theory is critiqued for having proposed four stages of cognitive development. Which

debate of child development does this fall under?
Options :

1. inclusion

2. sensitive periods

3. continuity / discontinuity

4. nature / nurture

Question Number : 2 Question Id : 824724926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 824724927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The kind of learning in which children learn through imitation of others is called -
Options :

1. Social learning

2. Behavioristic learning

3. Discovery learning

4. Humanistic learning

Question Number : 3 Question Id : 824724927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

O . = n &y
2ATENTY T 9= ©9 (990 §=2 200 3] 9% 50 91@d &, 597 F=aTaT 27
= ;

Options :

>
| WTHITSE AT

, TFERETE AT

3. 3-'I";{'-'JNI 3#-%4”*4

4. THAATETET STty



Question Number : 4 Question Id : 824724928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of cognitive development does the ability for abstract thinking and scientific

reasoning develop?

Options :

1. Pre-operational stage

2. Sensori motor stage

3. Concrete operational stage

4. Formal operational stage

Question Number : 4 Question Id : 824724928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 824724929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget's cognitive development theory, which of the following is essential for

cognitive development?



Options :

1. Observation of the environment.

2. Reinforcements by adults.

3. Active exploration of the surrounding.

4. Condition of Stimulus and Response.

Question Number : 5 Question Id : 824724929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 824724930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct example of scaffolding?
Options:

1. Sumit gives his friend his notebook to copy the answers.

2. Sumit helps his friend by giving her the appropriate amount of assistance he needs for solving

each question.

3. Sumit helps his friend by writing all the answers in his notebook.



4. Sumit tells his friend that she has to do all the questions on her own.

Question Number : 6 Question Id : 824724930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 824724931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Zone of proximal development is a space.
Options :

1. dynamic

2. rigid

3. mechanical

4. stagnant

Question Number : 7 Question Id : 824724931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 824724932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a critique of Lawrence Kohlberg's theory of moral development?
Options :

1. Stages in Kohlberg's theory are well defined and distinct.

2. Kohlberg's approach to moral reasoning underestimates the moral maturity of females.

3. Stages in Kohlberg's theory draw upon the characteristics used by Piaget to describe the

sequence of cognitive development.

4. Kohlberg did a longitudinal study with his participants where he interviewed them at three to

four year interval.

Question Number : 8 Question Id : 824724932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 824724933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A ‘child centered’ pedagogy

(i) incorporates diverse pedagogic methods

(ii) promotes democratic classroom practice

(iii) considers children's psychological development

(iv) gives primacy to the teacher’s authority
Options :

1. (i), (iii), (iv)

2. (i), (i), (iv)

3. (iii), (iv)

4. (i), (i), (iii)

Question Number : 9 Question Id : 824724933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 824724934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gender segregated seating arrangement and rigid gender based learning tasks in a middle

classroom would -

Options:

1. encourage gender equality
2. facilitate gender equality
3. lead to gender bias

4. promote gender stereotype flexibility

Question Number : 10 Question Id : 824724934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 824724935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Use of IQ tests as a measure of intelligence -

Options:

1. is valid since they can predict intelligence accurately.

2. has been critiqued since many tests are culturally biased.

3. is very useful to rank and sort students in clear cut categories for their educability.

4. helps the teacher in predicting students’ academic performance and success.

Question Number : 11 Question Id : 824724935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 824724936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per National Education Policy 2020, assessment of learners should include the progress as well

as uniqueness of learners in -

Options :

1. cognitive, social, spiritual domains.

2. cognitive, physical domains.

3. cognitive, affective, psychomotor domains.

4. physical, physiological, psychological domains.

Question Number : 12 Question Id : 824724936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
et fove At 2020 % e vt o o s ot v 7 v ot s e =)

Options :

: ~ ~
1 HIATATcHh, HHTTSSh, ATATH

, HETE, Hifa®

3, FSHTCH, HIETeHa, FANTeAT

4, Wi, Torarmenen, Stas=e



Question Number : 13 Question Id : 824724937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions would NOT assess critical thinking?

Options :

1. Find the value of x if the equation 2x = 12.

2. Think of the reasons for rise in level of pollution and explore possible solutions.
3. What measures can be suggested to promote religious harmony?

4. Can there be a proof of Pythagoras theorem using vedic mathematics?

Question Number : 13 Question Id : 824724937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 824724938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to cater to individual differences in her classroom a teacher should -



(i) point out the economic background and caste of all learners in the class.
(i) give learners opportunities to share their experiences in the class and value them.
(iii) intentionally exclude diverse cultural perspectives in the class.

Choose the correct option.
Options:

1. (i), (ii)

2. (i), (iii)

3. (ii), (iii)

4. (i), (i), (iii)

Question Number : 14 Question Id : 824724938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 8T T ST (TeTeA ol WA 0 o (o0, TeF STEATTUehT R 74T AT e
L. T AT SRR A 1 ST [N AT ST 2ht ST 8T |
li,  STTTERAI 1 S0 STTWE AT 0 3 Ao &1 3417 3¢ Heedl &

lii. SR EIEE] Hiﬁpf&m TSI 1 T AEh FF

Options :
. (i) 3T (i)

, (i) 3 (iii)
5. (if) 3 (iii)

4 (1), (i) 3T (i)



Question Number : 15 Question Id : 824724939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learning of students from disadvantaged sections should be promoted by -
Options :

1. asking them to keep home tuitions.

2. giving them lot of recall based worksheets.

3. inducing fear and shame of failure

4. providing appropriate pedagogical support

Question Number : 15 Question Id : 824724939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 824724940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following traits is a characteristic of children who are gifted?



Options :

1. Highly superior social skills and maturity as compared to their peers
2. Low perseverance in tasks

3. Curiosity and inquisitiveness

4. Choice of lower order thinking tasks

Question Number : 16 Question Id : 824724940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 824724941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Special education in special schools for students with learning difficulties:
Options :

1. is not desirable since it can be overly restrictive for the learners.

2. is desirable so that learners with learning difficulties are segregated from those without

learning difficulties.

3. is desirable so that education of learners with learning difficulties centres around only



vocationalization.

4. is not desirable since it is expensive and demanding for the teachers.

Question Number : 17 Question Id : 824724941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 824724942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Excessive physical movement, inattention and impulsivity are primary characteristics of:
Options :

1. Attention Deficit Hyperactivity Disorder

2. Auditory processing disorder

3. Language processing disorder

4, Dyscalculia

Question Number : 18 Question Id : 824724942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 824724943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about inclusion is NOTcorrect?

Options :

1. Inclusion means providing choice and options for learner amidst an array of activities and
experiences.

2. Inclusion implies accepting all learners without imposing normative standards.

3. Inclusion involves investing in categorization and labeling of learners based on their academic
abilities.

4. Inclusion includes use of diverse pedagogical strategies and respecting individual students’

pace of learning.

Question Number : 19 Question Id : 824724943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 824724944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What adaptions should a teacher make while engaging learners who are visually challenged ?
(i) speaking clearly and loudly with appropriate pauses

(i) use text to speech softwares

(iii) use a variety of colourful worksheets

(iv) use a lot of tactical materials
Options:

1. (i), (iii), (iv)

2. (i), (i), (iii)

3. (i), (ii), (iv)

4. (i), (iii), (iv)

Question Number : 20 Question Id : 824724944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 824724945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a socio-constructivist classroom?

Options:

1. Fixed seating arrangement.

2. Teacher giving instructions and expecting the learners to be passively obedient.
3. Memorization of facts by the learners.

4. Learners discussing on topic while working in a group.

Question Number : 21 Question Id : 824724945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 824724946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student does not perform well in school, a teacher needs to -
Options :

1. analyze the system

2. blame the parents

3. shame the student

4. refer the student to special school

Question Number : 22 Question Id : 824724946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 824724947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Internalization of continuous experiences of ‘not understanding’ and blaming the self for inability

to learn and perform in the classroom can potentially result in -
Options:

1. learned helplessness

2. motivation to learn more

3. mastery orientation

4. belief in incremental view of ability

Question Number : 23 Question Id : 824724947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 824724948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : A teacher should not design learning tasks that encourage children to seek out

knowledge from sites other than the textbook
Reason( R) : Learning and knowledge is ‘transmitted’ and not sought or constructed.

Choose the correct option.

Options :

1. Both ( A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) is true but (R) is false

4. Both (A) and (R) are false

Question Number : 24 Question Id : 824724948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T (A) meﬁwaﬁmwhﬁ ﬂﬁﬁ%ﬂﬁﬁﬁﬂﬁﬂﬁﬂﬁiﬁu@.gmm%mm%ﬁfﬁ
A 9 -7 1 S

7 (R): A TR R AR e R A g

Options:

. (A) 3T (R) T T2 & A1 (R) FET SATRAT AT 2 (A)

1

, (A) 3R (R) 39 &8 &, A (R) et s 78 2 (A) i

5 (A)FE 2 AR (R) T4 B

, (A) R (R) FH1 777 &



Question Number : 25 Question Id : 824724949 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meaningful learning takes place

Options :

1.in a linear rather than a spiral manner

2. when teachers dismiss emotional aspects of students
3. through direct instructions by the teachers

4. through active interactions of students with the environment

Question Number : 25 Question Id : 824724949 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ST HGAT —

Options:

THET &Y F BAT 2, 7 % IqeE ' 5|

1

, T B & S fvereh feraiiia < weTeeh weeqa Bt T

5 ToTerant grer ey g g fHenifid w2
, TN At uftasr & wny wEhe oA R EE

Question Number : 26 Question Id : 824724950 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following goals should be promoted among students for motivating them to learn?
Options:

1. Approach focused, mastery goals

2. Avoidance focused, performance goals

3. Approach focused, performance goals

4. Avoidance focused, mastery goals

Question Number : 26 Question Id : 824724950 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 824724951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Metacognition is -

Options :

1. intuitive theories that children construct about everyday phenomenon.

2. the process of thinking about one’s own thinking.

3. the process of modifying existing schemes to accommodate new information.

4. a visual and hierarchical representation of various sub-concepts.



Question Number : 27 Question Id : 824724951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 824724952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Effective teaching would require -

(i) focus on reproduction of facts

(i) focus on textbooks as the only source of knowledge

(iii) critical analysis of facts and perspectives

(iv) giving primacy to the prior experiences of the learners.

Choose the correct option.

Options :



1.(i), (i)
2. (iii), (iv)
3. (i), (iii)
4. (ii), (iv)

Question Number : 28 Question Id : 824724952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
THIEIIEAT 2TATIT o A0 37 S 27

. H*AET$WHTWEHT
ii. Fae u:Qﬁ—g{-nmr 2Rl 2t ST 7 |9 9199 9T 5 &7

i, TeAT ST TNt 7 [aa=mTeTe [Fegan
v, aﬁm&nmq{gag@ﬂmmw

Options :

1. (D, (1)
5 (i), (iv)
3, (1), (i)

4. (11), (1v)

Question Number : 29 Question Id : 824724953 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To promote conceptual understanding among students, a teacher should NOT -
Options:

1. use analogies.

2. give examples and non - examples.



3. make linkages with previous knowledge.

4. focus on mere reproduction of information.

Question Number : 29 Question Id : 824724953 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

s 5" Y, =, & .
HOcATcqh HHQWW%H = ToT0 TR ﬁ‘i‘f&ﬂw kRl ﬂﬁ"fmw =Mea?
Options:

| TUH T FETA

5 SETEXOT T 5 71T SETEI0TT 3T S
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Question Number : 30 Question Id : 824724954 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following emotions would encourage students to put efforts in learning?
Options :

1. Frustration

2. Boredom

3. Anger

4. Pride

Question Number : 30 Question Id : 824724954 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

. e Y e o, T T =, =,
e o ® I |7 "3 (i st €ie & o7 vae e uT o 2T

Options :
. T
5 AT
3. v
4. T

Mathematics and Science
SectionId: 82472432
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 82472456
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 824724955 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

3 ; 1 B 2 1 ;
If; of the difference of 2 g and 1 ‘ is subtracted from i of 3 i, the result is

Options :
48
1. 83

48

2 83

83

3. 48

83

Question Number : 31 Question Id : 824724955 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1 - N EETOT, Ny g ;
'a%ZZ ﬁ?lg FIARF aar3;a~7§ T & ST ST 2, o gfons 2

Options :
—48
1. 83
438
2. 83
—83
3. 48



83
48

Question Number : 32 Question Id : 824724956 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If the number 5432 x 7 is divisible by 9, then the digit in place of x is

Options :
1.9

Question Number : 32 Question Id : 824724956 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TRoOFFA BRI TR Ay F I W AF

Options :
1.9



Question Number : 33 Question Id : 824724957 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
4003250 =4 10" 4+3x10¥4+2x10°+5 x10%,
thenx +y +z+w is equal to

Options :
1. 16

4, 10

Question Number : 33 Question Id : 824724957 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
7 4003250=4 X 10% + 3X 107 + 2X 10% + 5 X 10" 2 & xtysz+w a2

Options :
1. 16
2. 14
3. 12
4. 10

Question Number : 34 Question Id : 824724958 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

4/ 0.004096 is equal to

Options :
1. 0.016

5> 0.064
3. 0.64

4 0.16

Question Number : 34 Question Id : 824724958 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

v0.004096 == 2
Options :
1. 0.016

5 0.064

3. 0.64

4. 0.16

Question Number : 35 Question Id : 824724959 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



7 1
Which of the following fractions is less than & and greater than 3 ?

Options :
1

1. 4

23

2. 24

11

3, 12

17
4. 24

Question Number : 35 Question Id : 824724959 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
i - 7 s |
ﬁﬂﬁﬁqﬁﬁ#mﬁmg | HA T T 3ThF 27

Options :

1

. 4

23

). 24

11

3. 12



17
24

Question Number : 36 Question Id : 824724960 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In AABC and AADB, £C=2£D=90° and BC=AD. Then, AABD = ABAC by the congruence rule:

Options:
1. SAS

5> RHS
3. 5SS

4. ASA

Question Number : 36 Question Id : 824724960 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AABC #AADB § /C=/D= 90 27 BC=AD 2|78, Fifetfan et fm @ A ABD = A
BAC 'FT

Options :

1. SAS

, RHS

3. SSS

4 ASA



Question Number : 37 Question Id : 824724961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In AABC, side BC s produced to D. E is a point on BC such that AC=AE. If ZEAB=32° and LACD=125° then what is the
measure of ZABC?

Options :
1. 23°

2. 259
3. 28°

4, 35°

Question Number : 37 Question Id : 824724961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AABC, ¥ BC# D 7% &g 71 # BC W0 g E 30 T AC=AE #17f2 ZEAB=32 71
/ACD=125"# 7 ZaBC Azt

Options :

. 23

[}

5. 25

o}

3. 28

[}

4. 35



Question Number : 38 Question Id : 824724962 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Sides AB and AC of AABC are produced to D and E respectively. If the bisectors of ZDBC and £ECB meet at O and
£B0OC=85° then what is the measure of ZBAC?

Options :
1. 10°

2. 152
3. 20°

4. 257

Question Number : 38 Question Id : 824724962 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AABCH 44t AB 3t AC #7773 D 41 E 0% a7 1 £ 772 71 DBC &t ECB % 1 O W

frda /B0C= 85 %7 ZBACHFR
Options :
9. 107

w
-2
=

[&)

e
[
A

s}



Question Number : 39 Question Id : 824724963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The measure of an angle is twice the measure of its supplementary angle. Then, its measure is
Options:
1. 120°

2. 60°
3. 100°

4. 90°

Question Number : 39 Question Id : 824724963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TRt 10T i 19T =9 HIF =107 ZHT 91U a?rgw-ﬁ 2| &, IHFRT AT B

Options :
1. 120°

2. 060°

5. 100°

4. 90°

Question Number : 40 Question Id : 824724964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A polyhedron with 8 faces and 12 vertices has edges.

Options :
1. 16

Question Number : 40 Question Id : 824724964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
8 o7 ST 12 ST a1 U5 TE%eTE T Ee E:

Options:
7. 16

> 14
3. 18

4. 10

Question Number : 41 Question Id : 824724965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The total cost of tiling the floor of a rectangular room at 3125 m? is 34000 If the length of the floor is 8m, then its
breadth is

Options :



3. 4m

Question Number : 41 Question Id : 824724965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T AT R T O 2125 T 61 21 e e 60 e 24000 7 7 B 6 e Qo 2, 7

Options :
1. 6m

2 8m
3. 4m

4. 9m

Question Number : 42 Question Id : 824724966 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The inner and outer radii of a circular track are 21m and 28m respectively. The cost of levelling the track at 35 per m?
is: (Usem = 27—2)

Options :
1. X1078



5> %2156
3 %4312

4. $5390

Question Number : 42 Question Id : 824724966 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
%aﬁa?m_ T T 61 AT T ST P 6 2 A 28 B 25 T 2 o1 50 9 59 04 0 e et

22

AWE: (n:7 Gl

Options :
1. 21078

5 22156

Question Number : 43 Question Id : 824724967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The maximum number of boxes, each of length 0.2m, breadth 0.4m and height 0.5m that can be placed in a box of
length 2m, breadth 1m and height 0.5m is

Options :
1. 30



4. 25

Question Number : 43 Question Id : 824724967 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

?ﬁl‘%?m, H’E‘l‘é Im ﬁﬁ'l‘é().imaﬁﬁmﬁ 0.2m Wl'é' 0.4m ﬂ?@,‘l‘éﬁ&imﬁﬂé&ﬁﬂﬁmﬁﬁ
T T )

Options :

1. 30

w
]
=

&
]
N

Question Number : 44 Question Id : 824724968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A number is selected at random from the numbers 1, 2, 3,4, ......... 50. The probability that it is a prime number is
Options:

1. 0.1



4. 0.7

Question Number : 44 Question Id : 824724968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HET 1,2,34,..,50 % & T S 1 505 0 & ST T 2] 06 T TS W 14 1 T 2

Options :

Question Number : 45 Question Id : 824724969 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Mean of the median, mode and range of thedata 1, 2,3,3,2,5,6,2,2,1,4,6,6,51s

Options :



L |

Question Number : 45 Question Id : 824724969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=

AT 1,2,3,3,2,5,6,2,2,1,4,6,6,5 3 T, FECTH T TR 1 A1 &

Options :

7

Question Number : 46 Question Id : 824724970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3 5 9
if( =x ——J:)2= —xz +Ay2 + Bxy, then the value of (A — B) is
4 6 16
Options :
)



35
3. 36

35
4, 18

Question Number : 46 Question Id : 824724970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2
3 5 9 - k
aﬁ'(;x—gy) =Ex2+Ay2+Bxya,aT(A-B}Eﬁrm—rr%:

Options :
—H
1. 6

—5

2. 4

35

3. 36

35

2. 18

Question Number : 47 Question Id : 824724971 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If 50% of (x — ¥)=30%of (x + ¥), what percentofx isy ?

Options:
1. 20%

> 22%
3. 25%

4. 27%

Question Number : 47 Question Id : 824724971 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pl (x-y) =T 50%, (x+)) F 30% 3 SIS 2, T T fohef H‘%‘S‘I‘d‘j‘ 27
Options:

\ 20%

0/
22%

Question Number : 48 Question Id : 824724972 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



let A= — 3 Igj.fz +Z IE}PE, B=—3 xzyg — 53:‘1‘ ard
C=a422%* L 3ty Lyt
If C— (A+B)= x* + mx?y* + nx?y?+ 6y*, then what is the value of (m+n)?

Options :
1.7

Question Number : 48 Question Id : 824724972 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TRH A= =307y 2 2%y 3 B=—3x%y° - sy* damc=

x4 20892 4 3x2y® +yt ke - (Bt +mady? +nxlyd + 6yt 2 R
FAF L)

Options :
1.7

4. 13

Question Number : 49 Question Id : 824724973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

fx+y=1 and x* + y? = 41, then what is the value of

1 1
= G
X Y
Options:

1

1. 10

Question Number : 49 Question Id : 824724973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 < 1 1 =,
aMx+y=1awx*+ y*=412d-+ - FARFT MW
x
Options:

—1
1. 10



Question Number : 50 Question Id : 824724974 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
If10(x +6)+8(x— 3) = 5(bx— 4),

5x+2

then what is the value of ?

Options :

Question Number : 50 Question Id : 824724974 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 10(x + 6) + 8(x — 3) = 5(5x — 4) & = 5"‘*'6” AR
Options :
1. 2
7
2. 6



Question Number : 51 Question Id : 824724975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is/are desirable for 'mathematisation' of child's thought process?

a) Children initiate a problem solving task by explaining the meaning of the problem and looking for possibilities to its
solution

h) Children make conjectures and build a logical progression of statements to explore the truth of their conjectures.
¢) Children recall the formulae and use it to find out a single solution.
Choose the correct option.

Options :
1. (a) and (b)
2. (a) and (c)

3. (b) and (c)

4. Only (c)

Question Number : 51 Question Id : 824724975 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



5 S e Y F v % o Refefen g n e R A 8
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e e 7

Options :

(a) 3R (b)

1

(a) 3R (c)

2

() # R (¢)

3

4 Fa (c)

Question Number : 52 Question Id : 824724976 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A famous mathematician, ‘George Polya' has given the four- step process for problem-solving. Which one of the
following is not a step of Polya's problem solving?

Options :
1. Understanding the problem
2. Revise a plan

3 Carryouta plan

4. Look back



Question Number : 52 Question Id : 824724976 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR T I 7S Ot e SATeT 2 =T O 21 7 e €121 e 341 0 e
o T 37 <00 3 9 7 27

Options:

| T A AT

U =T (eI 19 2HET)
4.3

Question Number : 53 Question Id : 824724977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher wants to teach the concept of fractions to the students, which one of the following approaches will be
most effective?

Options :

1 First write the topic on the blackboard then teach the concept.
o Introduce the numerator and denominator in different types of fractions

3 Provide the situation to distribute two objects among three and more than three students, then teach fraction

X
A Writing the fraction on blackboard in the form of; where y # 0, then teach the fraction



Question Number : 53 Question Id : 824724977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e T (e T 1 T 31 A UG ATee1 2, 71 (oA @ & 8 -1 S90S el
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Options:
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Question Number : 54 Question Id : 824724978 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How can a teacher help his/her students with their misconceptions in mathematics?
Options :

1. By observing students work and talking to them to assess their understanding of a concept.
o By suggesting some good books to practice similar questions,

3. By solving more questions using the procedure taught in the class.

4. By not interfering at all, as children will learn eventually.



Question Number : 54 Question Id : 824724978 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

F wmmﬁw“ﬁrrﬁmﬁaﬁﬁﬁa’gwﬁ T TEEAT F THAT 27
Options :
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Question Number : 55 Question Id : 824724979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A middle school teacher brings in 15 tiles in her classroom and gives the following instruction:
"Arrange 15 tiles in all possible rectangular arrays." Which of the following concepts can be taught through this
activity? Choose the correct option.

Options :
1. Volume, length, perimeter
o Area, factors, perimeter

3 Area, volume, perimeter

4. Length, factors, volume



Question Number : 55 Question Id : 824724979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e TaTed foaerd i ST 1 T |5 I8 14T 2 I (= reAigd e &7 2
T |5 TTEA T NG STIATER SR § SR
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Options :
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Question Number : 56 Question Id : 824724980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Superna brings in some concrete material like sets of wooden cubes, sets of tiles of squares, semi-circular and
circular shapes to her class. She asks students various questions like

(i) Join two square tiles side to side without overlap, which shape will be formed?

(ii) Join two identical cubes face-to-face, which shape will be formed?

(iii) Take few identical square tiles, how many of these will be needed to form a larger square?
She can use this activity to identify individual differences among her learners in their:

Options :
1. ability to measure angles of 2-D shapes

2. ability to estimate area and volume of given shapes

3 ability to use spatial reasoning, prediction and visualization in problem solving situations



4. ability to prove theorems in geometry

Question Number : 56 Question Id : 824724980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T U A T 0 3 T R e o T

ST | 3 4 3 T T 74 0, -
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Options:
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Question Number : 57 Question Id : 824724981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching data handling to class VIII students a teacher has used the activity: 'Survey of socio-economic status of
the families of a nearby village.'

The purpose of this activity is-

(a) to connect the classroom experience with the real world outside the classroom.

(b) to observe different shapes in the surroundings.

(c) to provide opportunity to students to collect information from the field.



Options :
1. Only (c)

2. (a) and (c)
3. (b) and (c)

4. (a) and (b)

Question Number : 57 Question Id : 824724981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FH 8 % TN 1 ST 1 TG TG 31 T AT A U 3 773 3 WG] 1 qTTsiaes Fedte O e &
opeTereTa 1 ST e 9 oraerea 1 T
o, 1% TV 1 A ST 1 STt 3 e S e
b, R 5 At SR e 1 e e
c. T S 1 9 4 4 0 e AR e o

Options :

-

T (¢)

1.

2. a3ﬁ'{t

3. bSﬁTC

4 aﬁbaﬁtc

Question Number : 58 Question Id : 824724982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

When asked to solve 3x +4x + 7y, a class VIII child solves in the following way:
3x +4x+7y

=7x 2_|_}' ¥

=14x2 ¥
This type of error is called as-

Options :

1. Individual error
2. Procedural error

3 Conceptual error

4. Error due to carelessness

Question Number : 58 Question Id : 824724982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(i)

AT 8 3 == BT 3x+4x+7y T A o TTU 3B AT, A T AT o § B T
3x+4x+Ty

= 7x2+7};
= 14}(2},’
T TR 1 7 FE 2 -

Options:
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Question Number : 59 Question Id : 824724983 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"A circle can be drawn with any center and any radius". According to Euclid, this statement is a/an
Options:

1. Axiom

2. Postulate

3. Theorem

4. Hypothesis

Question Number : 59 Question Id : 824724983 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TepeY ot 5 ST et ft e o6 g O g i T e gﬁms (Euclid) @Wﬂ%mﬁ?

Options :



Question Number : 60 Question Id : 824724984 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Studies on ‘Mathematics Anxiety’ among students have revealed that Mathematics Anxiety is also prevalent among
students who are high achievers in mathematics. The Mathematics Anxiety goes unnoticed among such students
hecause

Options :

These students perform well at tests hence teachers and parents only look at their performance and not emotional
1. factors.

2. High achievers overcome Mathematics Anxiety on their own without letting anyone know.
3. Mathematics Anxiety among high achievers subsides over the period of ime by solving more complex problems.

4 Mathematics Anxiety is irrelevant for high achievers in mathematics.

Question Number : 60 Question Id : 824724984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

oo o O o o O e 7 ST 2 4 o0 61 i 10 9 Soen o et feemo
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Options:
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Question Number : 61 Question Id : 824724985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The heat from burning of wood in a room spreads to corner of the room. Identify the process (es) by which heat is
transferred.

Options :

1. Convection and Radiation

2. Only Conduction

3. Conduction and convection

4 Only convection

Question Number : 61 Question Id : 824724985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tl 0 TS % e @Wﬁ%#ﬂﬁ%%ﬁﬁ%lﬂﬁ@ﬁﬂﬁwmﬁwm
F] TTI0T 21 ST 2-

Options :

| TEE A T
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Question Number : 62 Question Id : 824724986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The roar of lion is loud and sound of bird is feeble. The appropriate reason behind this is:
Options :

1. Frequency of vibration of roar of lion is higher as compared to birds’ sound.
o Frequency of vibration of roar of lion and birds’ sound is same.
3. Amplitude of vibration of roar of lion is larger as compared to bird's sound.

4. Amplitude of vibration of roar of lion is low as compared to sound of bird.

Question Number : 62 Question Id : 824724986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IR T TETE TaTeT 1T Ulerat i HATaTs &fior 2T 2] 36T 3T wrr 9E B
Options :
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Question Number : 63 Question Id : 824724987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is CORRECT in relation to a cyclone?

A) Eye of the storm is a calm area.

B) Very high pressure system is created with very high speed revolving around.
C) Tornadoes may form within cyclones.

D) Wind direction contributes to cyclone.

Options:
1. AB

, KD
3 AB,D

4 BCD

Question Number : 63 Question Id : 824724987 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT F SN T F -1 FYT T -

(A) SI=IT 3T &1 T3 9T &7 8T
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(D) T i1 foum =rerama | 9= At B

Options:

. (A),(B)

, (A).(C), (D)



5. (A).(B). (D)

,. (B).(C), (D)

Question Number : 64 Question Id : 824724988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance-time graph of an object is a straight line. Which of the following inferences can be drawn about its state
of motion?

A It is at rest.
B It is moving with uniform speed.
C) It is moving with uniform acceleration.

Options:
1. Only B

2 AorB

3. Only C

4, AorC

Question Number : 64 Question Id : 824724988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 824724989 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of steps in processing of the hair of sheep to wool.
a) Scouring

b) Carding

c) Shearing

d) Sorting

e) Weaving and dying

Options :
1. a>b>c>d->e
2. c»a—>b—>d-e

3, @azb2e3cod

4, C>a—>d->b-e

Question Number : 65 Question Id : 824724989 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1
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4,

Question Number : 66 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

()= (B)— (C)— (D)= (E)
(C)— (A)— (B)— (D)— (E)
(A)— (B)—= (B)— (O)— (D)

(C)— (A)— (D)= (B)— (E)

: 824724990 Question Type : MCQ Option Shuffling : Yes Is

Which of the following can be put on wounds as an antisepfic:

Options :

1. lodine

2. Bromine

3 Sulphur

4. Chlorine

Question Number : 66 Question Id

: 824724990 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 67 Question Id : 824724991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Magnesium burns in air to form A.
A is dissolved in water to form B.
Ais and B is in nature.

Options :

1. A= Magnesium oxide, B=Acidic

5 A= Magnesium Dioxide, B=Acidic

3 A= Magnesium oxide, B=Basic

4. A= Magnesium Dioxide, B=Basic

Question Number : 67 Question Id : 824724991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 824724992 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

X' is a metal which exists in liquid state. What could X' be?
Options:

1. Bromine

2. Mercury

3. Sodium

4. Magnesium

Question Number : 68 Question Id : 824724992 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 69 Question Id : 824724993 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sulphur Dioxide when dissolved in water forms-
Options :
1. Sulphur Trioxide

2. Sulphurous acid
3. Sulphuric acid

4. Sulphur

Question Number : 69 Question Id : 824724993 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TRATTAEE Tt F 1T & o et -

Options :
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Question Number : 70 Question Id : 824724994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In human circulatory system, X are blood vessels which carry deoxygenated blood and have Y walls. Z carries blood
from lungs to heart. X, Y, Z are:

Options :

1 arteries, thick, pulmonary vein
2 veins, thin, pulmonary vein
3 veins, thick, pulmonary artery

4. arteries, thin, pulmonary artery

Question Number : 70 Question Id : 824724994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 824724995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A) | provide shape to the human body.
B) | protect delicate parts like heart brain etc.
What am I?

Options:
1. Cartilage
2. Bone

3. Skeleton

4. Muscle

Question Number : 71 Question Id : 824724995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 72 Question Id : 824724996 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option:
Assertion (A): Hen lays eggs and chicks are hatched in about 3 weeks.
Reason (R): Internal Fertilization takes place in Hens.

Options :
1. (A)is true but (R) is false
2. (R) is true but (A) is false

3. Both (A) and (R) are true but (R) is not correct explanation of (A)

4. Both (A) and (R) are true and (R) is correct explanation of (A)

Question Number : 72 Question Id : 824724996 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 824724997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Deficiency of which vitamin lowers the rate of calcium absorption from the food?
Options:

1. Vitamin D

2. Vitamin C

3. Vitamin B

4. Vitamin K

Question Number : 73 Question Id : 824724997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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4. T K

Question Number : 74 Question Id : 824724998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following types of plants do not show transpiration?
Options :

1. Aquatic plants with floating leaves
2. Aquatic submerged plants
3. Plants growing in hilly areas

4. Plants living in deserts

Question Number : 74 Question Id : 824724998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| S urey et avdt 2
T § =& UTeT

2, 2

5 UAATT & I A1 UEY

4 TETIS 3 UTEY

Question Number : 75 Question Id : 824724999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents correct matching set?

A- Power house of cell 1) Cell membrane
B- Store house of cell i) Nucleus
C- Information centre of cell iii) Mitochondria
D- Gate keeper of cell iv) Chloroplast
v) Vacoule
Options :

1. A-ii), B-(iii), C-(iv), D-(v)

o, Aiii), B-(v), C(ii), D-(i)

3. A-{(v), B(iii), C-{i), D-(iv)

4. A-iii), B-(iv), C-(ii), D-(i)

Question Number : 75 Question Id : 824724999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. A-I1, B-III, C-IV, D-V

, A-IIL, B-V, C-II, D-I

3 A-V, B-IL C-IL, D-IV

4. AL B-1V, C-I1, D-1

Question Number : 76 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 8247241000 Question Type : MCQ Option Shuffling : Yes Is

The most suitable method of irrigation for areas having low rainfall and very strong winds is-

Options :
1. drip irrigation

2. sprinkle irrigation

3 furrow irrigation

4. contour irrigation

Question Number : 76 Question Id

: 8247241000 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247241001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kaleidoscope is based on the principle of-

Options :

1. the reflection of light from two plane mirrors arranged parallel to one another.
2. multiple reflection from three inclined plane mirrors.

3 reflection of light from two plane mirrors arranged perpendicular to one another.

4. multiple reflection from two inclined plane mirrors.

Question Number : 77 Question Id : 8247241001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247241002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities can be used for identification of north and south poles of a magnet?
Options :

1. Bringing the magnet close to a piece of iron.
2. Dipping the magnet in a heap of iron fillings.
3. Bringing the magnet close to another magnet.

4. Freely suspending the magnet from the middle.

Question Number : 78 Question Id : 8247241002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247241003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Victor connected a battery and a fixed resistance in the electric circuit, now he wants to regulate the current without
changing the voltage, how can he do that?

Options :

1. By connecting rheostat
5 By removing fixed resistance
3 By connecting one fixed resistance

4. BY changing the temperature

Question Number : 79 Question Id : 8247241003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247241004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option:
Assertion (A): The sky appears blue during the day and red during sunrise and sunset.
Reason (R): The colour of the sky is due only to reflection of light.

Options :
1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not the correct explanation of (A).

3. (A)is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 80 Question Id : 8247241004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247241005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following tasks illustrates 'Science as inquiry'?

A) Identify a mammal from a picture of 4 animals.

B) Find out if ice cubes melt at the same rate in hot and cold water.

C) Enlist various units to measure temperature.

D) Explore factors which determine the floating or sinking of objects in liquids.

Options :
1. Cand D
2. AandD

3. Only D

4. BandD



Question Number : 81 Question Id : 8247241005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247241006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asked students to investigate the germination of seeds of different plants under various physical conditions
and posed many questions to them during the process.
Match the questions with the corresponding processing skill they intend to develop.

Questions Process Skill
A) Which plant is sturdier: the one left in sun or the (i) Hypothesizing
one left in shade?

B) Why do you think some seeds are (ii) Observing
growing?
C) How many seeds of each kind are (iii) Classifying
growing?

Options :



1. A-{i), B-(i), C(iii
5 A-(i), B(iii), C-(i)
3. A{ii), B-(iii), C-(i)

4. Adii), B-(i), i)

Question Number : 82 Question Id : 8247241006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
. A-(ii), B- (i), C - (iii)
, A- (i), B - (i), C - (ii)
o A-(ii), B - (iii), C - (i)

, A-(iii), B - (i), C - (ii)



Question Number : 83 Question Id : 8247241007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asks the following questions to her students:

A) How do you use electricity?

B) Why is copper used for making wire for carrying electricity?

Which of the following is true regarding the nature of questions given above?

Options :
1. A- Open-ended, B - Closed-ended

5 A- Closed-ended, B - Open-ended
3 A- Closed-ended, B - Closed-ended

4 A- Open-ended, B - Open-ended

Question Number : 83 Question Id : 8247241007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247241008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a desirable practice in the context of organising classroom investigating in science at upper
primary level?

Options :

1 Insisting on demonstration of correct results by students.
o Assigning tasks that require sophisticated gadgets.
3 Allowing students to discuss the possible sources of error among themselves.

4. Rigidly following the textbook in terms of the prescribed steps and material required.

Question Number : 84 Question Id : 8247241008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247241009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would be the most appropriate strategy to assess the students’ energy —conserving behaviour?
Options :

1 Administering a guestionnaire and analysing the scores.
2 Interviewing all the teachers who teach that class.
3 Observing students and maintaining anecdotal records.

4. Asking students to write an essay on energy-conservation.

Question Number : 85 Question Id : 8247241009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247241010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the National Curriculum Framework 2005, science curriculum should aim at addressing all of the
following, except

Options:

1. achieving equity
5 encouraging inventiveness
3 improving students' scores in exams

4 encouraging reforms in examination system.

Question Number : 86 Question Id : 8247241010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247241011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements conveys our understanding about the role of language in acquisition of scientific
concepts?

Options :

1. Some words which are used in everyday language have specific meaning in science.
5 Meaning of the scientific terms is received as it is and not interpreted by the students,
3 Learners' performance in science is independent of their proficiency in the language of instruction.

4. Language is a unidirectional process that proceeds from the speaker to the listener.

Question Number : 87 Question Id : 8247241011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247241012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following steps would precede the rest in an inquiry-oriented classroom in which Archimedes principle is
to be introduced?

Options:

1. Providing the students with a clear and elaborate statement of Archimedes' principle.
2. Engaging the students in floating and sinking activities with carefully selected materials.
3. Demonstrating the apparent loss in weight of objects when dipped in different liquids.

4. Explaining in detail the concepts of density and buoyant force.

Question Number : 88 Question Id : 8247241012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247241013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Constructing a graph to describe the relationship between angle of incidence and angle of reflection is an example of-
Options :

1. com municating

o predicting

3. interpreting

4. hypothesizing

Question Number : 89 Question Id : 8247241013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247241014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In the context of teaching of topic 'sound’, read the following statements and choose the correct option:
Assertion (A): The teacher should expose the students to various kinds of vibrating bodies.
Reasoning (R): Observation is an important process skill in teaching-learning of science.

Options:
1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A)is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 90 Question Id : 8247241014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

Section Id : 82472433
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 82472457
Question Shuffling Allowed : Yes

Question Id : 8247241015 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/ complete
the statements that follow by choosing the appropriate options
from the given ones.

Of Mortimer she saw very little. Farm and woods and trout
streams seemed to swallow him up from dawn till dusk. Once,
following the direction she had seen him take in the morning, she
came to an open space among nut bushes, which were further
shut in by huge yew trees, in the centre of which stood a stone
pedestal surmounted by a small bronze figure of a youthful Pan
(Greek god of shepherds). It was a beautiful piece of
workmanship.

Her attention was, however, held by the fact that a newly cut
branch of grapes had been placed as an offering at its feet. Grapes
were none too plentiful at her home. Sylvia snatched the bunch
angrily from the pedestal. She was filled with annoyance as she
strolled slowly homeward, and then gave way to a sharp feeling
of something that was near fright; from a thick tangle of bushes a
boy’s face was scowling at her, brown and beautiful, with
unutterably evil eyes.

It was a lonely pathway; all pathways around her home were
lonely for that matter. So she sped forward without waiting to
give a closer look at this sudden source of freight. It was not till
she had reached her house that she discovered that she had
dropped the bunch of grapes in her flight.

‘I saw a youth in the wood today’, she told Mortimer that
evening, ‘brown-faced and rather handsome, but a rascal to look
at. A gipsy lad, I suppose.’

‘A reasonable theory’, said Mortimer, ‘only there aren’t any
gipsies in these parts at present’.

Sub questions

Question Number : 91 Question Id : 8247241016 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sylvia saw very little of Mortimer as he:

came home only now and then.
was a hard working farmer.
grew grapes in the forests.
wanted to keep away from her.

Wb -

e

Options :
1.1
2.2



3.3
4.4

Question Number : 92 Question Id : 8247241017 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia wanted to know where Mortimer spent his
time.
(b)One morning she noted the path taken by him.

(a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right. (a) leads to (b)
Both (a) and (b) are right. (b) leads to (a)

il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247241018 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After leaving home, Sylvia was surprised to reach :

a thick group of trees.

a vine laden with grapes.

the statue of Pan in an open space.
a stream full of trout (a fish).

s vl

e

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 8247241019 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia always had grapes at her dining table.
(b) Surrounded by yew trees were nut growing bushes.
(c) Pan’s stone statue had a bunch of grapes at its feet.

(a) is right and (b) is wrong
. (b) is right and (a) is wrong
. (c) is right and (b) is wrong
. (a) is right and (c) is wrong

L b =

)
)
)
)

I

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247241020 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The order in which Sylvia experienced various emotions,
while in the forest was :

Surprise, Shock, Anger, Fear.
Shock, Anger, Fear, Surprise.
Anger, Fear, Surprise, Shock.
Fear, Surprise, Shock, Anger.

e oo

il

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247241021 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘streams seemed to swallow him up’. The figure of speech
used in the above expression is:

Simile
Alliteration
Metaphor
Trony

o bt

g

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247241022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘which were further shutin ........0
The underlined word is a/an

Noun
Verb
Adjective
Adverb

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247241023 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘she discovered that she had........7
The word opposite in meaning to the underlined word is

recovered
closed
revealed
hid

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247241024 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Sylvia snatched the bunch angrily’.
The underlined word means the same as

picked
grabbed
pulled
threw

i e

-

Options :
1.1
2.2
3.3
4.4

Question Id : 8247241015 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/ complete
the statements that follow by choosing the appropriate options
from the given ones.

Of Mortimer she saw very little. Farm and woods and trout
streams seemed to swallow him up from dawn till dusk. Once,
following the direction she had seen him take in the morning, she
came to an open space among nut bushes, which were further
shut in by huge yew trees, in the centre of which stood a stone
pedestal surmounted by a small bronze figure of a youthful Pan
(Greek god of shepherds). It was a beautiful piece of
workmanship.

Her attention was, however, held by the fact that a newly cut
branch of grapes had been placed as an offering at its feet. Grapes
were none too plentiful at her home. Sylvia snatched the bunch
angrily from the pedestal. She was filled with annoyance as she
strolled slowly homeward, and then gave way to a sharp feeling
of something that was near fright; from a thick tangle of bushes a
boy’s face was scowling at her, brown and beautiful, with
unutterably evil eyes.

It was a lonely pathway; all pathways around her home were
lonely for that matter. So she sped forward without waiting to
give a closer look at this sudden source of freight. It was not till
she had reached her house that she discovered that she had
dropped the bunch of grapes in her flight.

‘I saw a youth in the wood today’, she told Mortimer that
evening, ‘brown-faced and rather handsome, but a rascal to look
at. A gipsy lad, I suppose.’

‘A reasonable theory’, said Mortimer, ‘only there aren’t any
gipsies in these parts at present’.

Sub questions

Question Number : 91 Question Id : 8247241016 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sylvia saw very little of Mortimer as he:

came home only now and then.
was a hard working farmer.
grew grapes in the forests.
wanted to keep away from her.

Wb -

e

Options :
1.1
2.2



3.3
4.4

Question Number : 92 Question Id : 8247241017 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia wanted to know where Mortimer spent his
time.
(b)One morning she noted the path taken by him.

(a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right. (a) leads to (b)
Both (a) and (b) are right. (b) leads to (a)

il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247241018 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After leaving home, Sylvia was surprised to reach :

a thick group of trees.

a vine laden with grapes.

the statue of Pan in an open space.
a stream full of trout (a fish).

s vl

e

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 8247241019 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia always had grapes at her dining table.
(b) Surrounded by yew trees were nut growing bushes.
(c) Pan’s stone statue had a bunch of grapes at its feet.

(a) is right and (b) is wrong
. (b) is right and (a) is wrong
. (c) is right and (b) is wrong
. (a) is right and (c) is wrong

L b =

)
)
)
)

I

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247241020 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The order in which Sylvia experienced various emotions,
while in the forest was :

Surprise, Shock, Anger, Fear.
Shock, Anger, Fear, Surprise.
Anger, Fear, Surprise, Shock.
Fear, Surprise, Shock, Anger.

e oo

il

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247241021 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘streams seemed to swallow him up’. The figure of speech
used in the above expression is:

Simile
Alliteration
Metaphor
Trony

o bt

g

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247241022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘which were further shutin ........0
The underlined word is a/an

Noun
Verb
Adjective
Adverb

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247241023 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘she discovered that she had........7
The word opposite in meaning to the underlined word is

recovered
closed
revealed
hid

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247241024 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Sylvia snatched the bunch angrily’.
The underlined word means the same as

picked
grabbed
pulled
threw

i e

-

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 82472458

Question Shuffling Allowed : Yes

Question Id : 8247241025 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)



Question Label : Comprehension

Read the poem given below and answer the questions/ complete the
statements that follow by choosing the appropriate options from the
given ones.

It is not growing like a tree

In bulk, doth make Man better be:

Or standing long an oak, three hundred vear,
To fall a log at last, dry, bald, and sere:

A lily of a day

Is fairer far in May,

Although it fall and die that night —

It was the plant and flower of Light.

In small proportions we just beauties see:
And in short measures life may prefect be.

Sub questions

Question Number : 100 Question Id : 8247241026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is an oak tree known for?

its huge size
no fruit grows on it
its long life
both 1 and 3

e ol vl

s

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247241027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An oak tree teaches us that :

a long life can help one to achieve a lot.
perfection comes only with the passage of time.
size does not matter in life.

to become leafless at last is not all that bad.

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247241028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) An aged man and an old oak tree are similar in many
ways.
(b) A lily is no good as it lives for just a day.

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. Both (a) and (b) are right
4. Both (a) and (b) are wrong.

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 8247241029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) Small is beautiful.
(b)Lily needs the whole month of May to bloom.
(c) Even a young person can be noble.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (c) are right.

W d =

i

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247241030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The figure of speech used in the opening line is a/an

simile
metaphor
personification
irony

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247241031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Lily has been called ‘flower of light’. It means that the lily:

is a source of light.

is very light in weight.

dies when the sun is set.
spreads beauty and fragrance.

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Id : 8247241025 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the poem given below and answer the questions/ complete the
statements that follow by choosing the appropriate options from the
given ones.

It is not growing like a tree

In bulk, doth make Man better be:

Or standing long an oak, three hundred vear,
To fall a log at last, dry, bald, and sere:

A lilv of a day

Is fairer far in May,

Although it fall and die that night —

It was the plant and flower of Light.

In small proportions we just beauties see:
And in short measures life may prefect be.

Sub questions

Question Number : 100 Question Id : 8247241026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is an oak tree known for?

its huge size

no fruit grows on it
its long life

both 1 and 3

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247241027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An oak tree teaches us that :

1. a long life can help one to achieve a lot.

2. perfection comes only with the passage of time.
3. size does not matter in life.

to become leafless at last is not all that bad.

s

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247241028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) An aged man and an old oak free are similar in many
ways.
(b) A lily is no good as it lives for just a day.

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. Both (a) and (b) are right
4. Both (a) and (b) are wrong.

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 8247241029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Small is beautiful.
(b)Lily needs the whole month of May to bloom.
(c) Even a young person can be noble.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (c) are right.

W d =

i

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247241030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The figure of speech used in the opening line is a/an

l. simile

2. metaphor

3. personification
irony

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247241031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lily has been called ‘flower of light’. It means that the lily:

is a source of light.

is very light in weight.

dies when the sun is set.
spreads beauty and fragrance.

SR e

e

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 82472459

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247241032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Learners construct the grammar of a language when

they are provided with comprehensible inputs in anxiety-free environment.
they are provides with inputs which makes them anxiety stricken.

they use language for purpose and inputs becomes output.

they memorize the rules of the language through drills.

LI 1D

s

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247241032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learners construct the grammar of a language when

they are provided with comprehensible inputs in anxiety-free environment.
they are provides with inputs which makes them anxiety stricken.

they use language for purpose and inputs becomes output.

they memorize the rules of the language through drills.

W1

&

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247241033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does “language register’ denote?

The social difference in language use by people.

The variation in language according to the context in which it is used.
Language use in an acceptable way in terms of its function and grammar.
Use of language for official purposes and in government functions.

w1

e

Options :



1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247241033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does “language register’ denote?

The social difference in language use by people.

The variation in language according to the context in which it is used.
Language use in an acceptable way in terms of its function and grammar.
Use of language for official purposes and in government functions.

Wt

e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247241034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching believes, ‘language consists not of traditional grammar and vocabulary but often
of multi-word prefabricated chunks’?

. Lexical Approach

. Communicative Approach

. Grammar-translation method
. Engaging Approach

g tad bl —

Options :
1.1
2.2
3.3
4.4



Question Number : 108 Question Id : 8247241034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching believes, ‘language consists not of traditional grammar and vocabulary but often
of multi-word prefabricated chunks'?

1. Lexical Approach

2. Communicative Approach
3. Grammar-translation method
4. Engaging Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247241035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner listens to specific details, recognising cognates and word order patterns. What strategy does he adopt for
listening?

1. Top down listening processes
2. Mixed strategies for listening
3. Constructivist strategies

4. Bottom up listening processes

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247241035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A learner listens to specific details, recognising cognates and word order patterns. What strategy does he adopt for
listening?

1. Top down listening processes
2. Mixed strategies for listening
3. Constructivist strategies

4. Bottom up listening processes

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247241036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is/ are NOT true of vocabulary learning?

Vocabulary is a precondition for speaking and understanding the language.

It is important to move from meaning to form of the word while introducing the words to young learners.
Most learning at the primary level is vocabulary learning.

Grammar is important for learning vocabulary.

= =l

a. b, c. and d are true.
aand ¢ are true.

a, band c are true.

4. dis not true,

kel el

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 8247241036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is/ are NOT true of vocabulary learning?

Vocabulary is a precondition for speaking and understanding the language.

It is important to move from meaning to form of the word while introducing the words to young learners.
Most learning at the primary level is vocabulary learning.

Grammar is important for learning vocabulary.

o e oo

a, b, ¢, and d are true.
aand ¢ are true.

a, band ¢ are true.

4. dis not true.

ol e

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247241037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A task which supports learners to connect form, meaning and use is known as

Declarative knowledge of grammar.
Present-Practice-Produce model of grammar learning.
Communicative tasks in grammar teaching-learning.
Content based grammar teaching.

Wk e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247241037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A task which supports learners to connect form, meaning and use is known as

Declarative knowledge of grammar.
Present-Practice-Produce model of grammar learning.
Communicative tasks in grammar teaching-learning.
Content based grammar teaching.

re il e

=

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247241038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to writing involves ‘Brainstorming, Outlining, Drafting, Revising, Proof-reading and writing the final
draft’?

L. Process Approach
2. Product Approach
3. Formal Approach
4. Inform Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247241038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to writing involves ‘Brainstorming, Outlining, Drafting, Revising, Proof-reading and writing the final
draft’?

L. Process Approach
2. Product Approach
3. Formal Approach
4. Inform Approach



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247241039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of foreign languages as .

an a language in place of English as a second language.
additional options at the middle stage.

additional options at the secondary stage.

an option under three language formula.

g o) opes

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247241039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of foreign languages as .

an a language in place of English as a second language.
additional options at the middle stage.

additional options at the secondary stage.

an option under three language formula.

Wi bl pes

Options :
1.1
2.2

3.3



4.4

Question Number : 114 Question Id : 8247241040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of Sign L anguage?

Sign language has a grammar.

Sign language is a natural language.

Sign language does not have a grammar.
There are many varieties of Sign Language.

o Rl

>

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247241040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of Sign Language?

Sign language has a grammar.

Sign language is a natural language.

Sign language does not have a grammar.
There are many varieties of Sign L. anguage.

rched e

o

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247241041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A learner of class VIII begins to read short stories after his language teacher told him about a short story by Sadat
Hassan Munto. What is this reading known as?

. Extensive reading
. Intensive reading

l
2
3. Reading with purpose
4, Extrapolative reading

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247241041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner of class VIII begins to read short stories after his language teacher told him about a short story by Sadat
Hassan Munto. What is this reading known as?

. Extensive reading
. Intensive reading

l
2
3. Reading with purpose
4, Extrapolative reading

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247241042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following are true of authentic materials for language learning?

a. Materials should take into consideration the socio-cultural milieu of the region.
b. Materials should provide a route map for learner to move on.
c. Any materials could be taught in any region.

l. a,band c are true.
2. aand b are true
3.  candaare nottmue
4. cand b are true
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247241042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which one of the following are true of authentic materials for language learning?
a. Materials should take into consideration the socio-cultural milieu of the region.

b. Materials should provide a route map for learner to move on.
c. Any materials could be taught in any region.

l. a,bandc are true.
2. aand b are true
3.  candaare nottrue
4.  cand b are true
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247241043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Assessment while learning” refers to

1. Assessment as an integrated activity in the processes of the classroom.

2. Assessment at the end of the term or a period, summative assessment.

3. Assessment over a period of time through continuous monitoring.

4. A continuous and comprehensive processes carried out throughout the year.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247241043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*Assessment while learning’ refers to

1. Assessment as an integrated activity in the processes of the classroom.

2. Assessment at the end of the term or a period, summative assessment.

3. Assessment over a period of time through continuous monitoring.

4. A continuous and comprehensive processes carried out throughout the year.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247241044 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism proposes that

1.every learner studies in English medium along with their languages in school.

2. every learner studies in their mother tongue during the primary vears and moves to English in class VI.

3.every learner begins her schooling in mother tongue and move on to add two or many languages as they progress.
4.every learner begins with the state language and move on to add two or many languages as they progress.



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247241044 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism proposes that

1.every learner studies in English medium along with their languages in school.

2. every learner studies in their mother tongue during the primary vears and moves to English in class VL.

3.every learner begins her schooling in mother tongue and move on to add two or many languages as they progress.
4.every leaer begins with the state language and move on to add two or many languages as they progress.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247241045 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Understanding what the text is about” is

1. inferring

2. understanding the argument of the author
3. summarising

4. finding the plot of the story

Options :
1.1
2.2

3.3



4.4

Question Number : 119 Question Id : 8247241045 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Understanding what the text is about” is

1. inferring

2. understanding the argument of the author
3. summarising

4. finding the plot of the story

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247241046 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT considered as an authentic activity in the materials?

1. Based on the reading of the texton ...... write a letter to your friend on the ideas of the text. .
2. Write a paragraph on “a cow’ in about two hundred words.

3. Create a sub-text of the story and write the events of story in ten points.

4. Complete the paragraph supplying the missing words based on your reading of the story.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247241046 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT considered as an authentic activity in the materials?

1. Based on the reading of the texton ...... write a letter to your friend on the ideas of the text. .
2. Write a paragraph on *a cow’ in about two hundred words.

3. Create a sub-text of the story and write the events of story in ten points.

4. Complete the paragraph supplying the missing words based on your reading of the story.

Options:
1.1
2.2
3.3
4.4
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Question Number : 121 Question Id : 8247241048 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247241049 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247241050 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247241051 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 125 Question Id : 8247241052 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247241053 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 8247241054 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247241055 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4
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Question Number : 121 Question Id : 8247241048 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247241049 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247241050 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247241051 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 125 Question Id : 8247241052 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247241053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247241054 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247241055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e § = e AT E?
1. 99

Options :

1.1

2.2

3.3

4.4
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Question Number : 129 Question Id : 8247241057 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
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Question Number : 130 Question Id : 8247241058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 8247241059 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1

2.2
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4.4

Question Number : 132 Question Id : 8247241060 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 133 Question Id : 8247241061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 8247241063 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Id : 8247241056 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Question Number : 129 Question Id : 8247241057 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 130 Question Id : 8247241058 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 8247241059 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 132 Question Id : 8247241060 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 8247241061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 8247241062 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 8247241063 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 136 Question Id : 8247241064 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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1.1
2.2
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4.4
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1.1
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Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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—
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Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247241069 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
o o T T % S T T A 7 ol 4 T 3 8 7 T 1 O o o ] ] 9 Y 1
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|, 7 1%
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4, T % 2 et o8
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247241069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
4 o W S 1 1 S A 7 o T 1 R o e o o | ] R
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4. 9 T T AT T
Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247241070 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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7% YRR T
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4. ST T 61 e

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247241070 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247241071 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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TETHATT 81 T O ¥ ST 21 78 W oA, e T 340 ) o 109 1 0 T 71 39 (e [
TG 7 o0 70 6 o, 2 T e ot e & S 0 5 o 0 T 0 £ 54T T
31 T T AT o 3 e

|, TR [T (T

2. - SPAT-HROT (47

3, T ST ST A
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Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247241071 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1
2.2
3.3

4.4



Question Number : 144 Question Id : 8247241072 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247241072 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



Question Number : 145 Question Id : 8247241073 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feAiEd 1 =@ o o T % 27=7q Y
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247241073 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247241074 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

LT TRTeT A, 2020 TR ST sht ST e 27
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Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247241074 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247241075 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247241075 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247241076 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247241076 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I T AT TR ST § Hared 27

|, ST T 3 SR 26 e =0 3 a5 vt g 2 I <o e T 7|
. ST ToneqTeff 2 TP T o TS T I T e & T 3 T S 9
3. T AR Bl JHUTI 37 3 FeTw e 7 & o1 forem o 2
4., g Tovereff gT o T et |t i fatem w5 e T

Options :
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1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247241077 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247241077 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247241078 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247241078 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4



